# ON THE SOLUTIONS OF NONLNEAR FUNCTIONAL EVOLUTION EQUATIONS IN A BANACH SPACE WITH UNIFORMLY CONVEX DUAL

KUK- HYEON SON

### 1. Introduction

Let X be a real Banach space with norm  $\|\cdot\|$ . Let PC be the space of piecewise continuous functions $\psi : [-r, 0] \longrightarrow X$  for a fixed r > 0. PC is a Banach space with norm  $\|\psi\|_{PC} = \sup\{\|\psi(\theta)\| \mid \theta \in [-r, 0]\}$  for  $\psi \in PC$ . In this paper, we consider the abstract nonlinear functional evolution equation

$$(FDE;\phi) \begin{cases} u'(t) = A(t)u(t) + G(t,u_t), \quad t \in [0,T], \\ u_0 = \phi, \quad \phi \in PC. \end{cases}$$

where  $u: [-r,T] \longrightarrow X$  is an unknown function,  $\{A(t): D \subset X \longrightarrow X \mid t \in [0,T]\}$  is a given family of single-valued operators on X, D independent of  $t, G: [0,T] \times PC \longrightarrow X$ , and  $\phi: [-r,0] \longrightarrow X$  is Lipschitzian with  $\phi(0) \in D$ . The symbol  $u_t$  denotes the function  $u_t(\theta) = u(t+\theta), \theta \in [-r,0]$ . The purpose of this paper is to establish the existence of the limit solution of  $(FDE;\phi)$ . To do this, we give a convergence theorem for solutions of a certain approximate difference equation associated with  $(FDE;\phi)$ . The limits of solutions of the approximate difference equation are regarded as generalized solution of  $(FDE;\phi)$  and we shall call them *limit solutions* of  $(FDE;\phi)$ .

Now we make further assumption regarding A(t) and G.

(A.1) The dual  $X^*$  of X is uniformly convex.

(A.2) There exists  $\omega \ge 0$  and a nondecreasing function  $L: [0, \infty) \longrightarrow [0, \infty)$  such that

$$\langle y_1 - y_2, x_1 - x_2 \rangle_i \le \omega ||x_1 - x_2||^2 + |t - s|L(||x_2||)||x_1 - x_2||^2$$

Received April 30, 1994.

The Present Studies were Supported by The Basic Science Research Institute Program, Ministry of Education, 1993, Project # BSRI-93-103. for all  $0 \le s \le t \le T$ ,  $[x_1, y_1] \in A(t)$  and  $[x_2, y_2] \in A(s)$ .

(A.3) For each  $t \in [0, T]$  and  $0 < \lambda < \lambda_0, \lambda_0 \omega < 1$ ,  $R(I - \lambda A(t)) = X$ .

(A.4) There exists a constant  $\beta > 0$  such that, for  $\phi, \psi \in PC$  and  $t \in [0,T]$ ,

$$\|G(t,\phi)-G(t,\psi)\|\leq \beta\|\phi-\psi\|_{PC}.$$

(A.5) There exists  $L_1: [0,\infty) \longrightarrow [0,\infty)$  nondecreasing such that

$$\|G(t,\phi)-G(s,\phi)\|\leq L_1(\|\phi\|_{PC})|t-s| ext{ for }\phi\in PC.$$

#### 2. Preliminaries

Ley X be a real Banach space with norm  $\|\cdot\|$  and let  $X^*$  be the dual space of X with  $\|\cdot\|$  also denoting the norm of  $X^*$ . The value of  $x^* \in X^*$  at x will be denoted by  $(x, x^*)$ . Recall that the definition of the duality mapping  $F : X \longrightarrow X^*$  of X, i.e.,  $F(x) = \{x^* \mid$  $(x, x^*) = \|x\|^2 = \|x^*\|^2$ . Using the Hahn-Banach theorem it is immediately clear that F(x) is nonempty for any  $x \in X$ . In general, F is a multi-valued operator. One would need somewhat stronger condition to ensure that F is continuous. A convenient sufficient condition is given by the following.

**Theorem 2.1** [1]. If  $X^*$  is uniformly convex, then F is single-valued and is uniformly continuous on any bounded set of X. In other words, for each  $\varepsilon > 0$  and M > 0, there is a  $\delta > 0$  such that  $||x|| \le M$  and  $||x-y|| < \delta$  imply  $||F(x) - F(y)|| < \varepsilon$ .

The properties of F are related to the differentiability of the norm  $\|\cdot\|$  in X. For  $x, y \in X$  and  $h \in R$ , let  $\langle x, y \rangle_h = h^{-1}(\|x + hy\| - \|x\|)$  be the difference quotient of  $\|x\|$  at x in the direction y. Since the function  $h \mapsto \|x + hy\|$  is convex, we easily deduce that  $h \mapsto \langle x, y \rangle_h$  is monotone increasing for h > 0 and  $\langle x, y \rangle_h \ge -\|y\|$  for all h > 0. This implies the existence of the right derivative

$$\langle x,y\rangle_+ = \lim_{h\to 0^+} \langle x,y\rangle_h$$

of ||x + hy|| at h = 0. As  $\langle x, y \rangle_{-h} = -\langle x, -y \rangle_h$  we deduce that  $\langle x, y \rangle_h$  is also monotone increasing and bounded above for h < 0. Thus the left derivative

$$\langle x, y \rangle_{-} = \lim_{h \to 0^{-}} \langle x, y \rangle_{h}$$

124

exists and we have  $\langle x, y \rangle_{-} = -\langle x, -y \rangle_{+}$ . Finally, we obtain the following inequality (see [1])

$$\langle x,y\rangle_{-h}\leq \langle x,-y\rangle_{-}\leq \langle x,y\rangle_{+}\leq \langle x,y\rangle_{h},\ h>0.$$

For  $x, y \in X$ , we define the functionals  $\langle , \rangle_s$  and  $\langle , \rangle_s$  on  $X \times X$  by

$$\langle y,x
angle_s=\sup\{\langle y,x^*
angle\mid x^*\in F(x)\}$$

and

$$\langle y, x \rangle_i = \inf\{\langle y, x^* \rangle \mid x^* \in F(x)\}.$$

Clearly  $\langle y, x \rangle_s = -\langle -y, x \rangle_i = -\langle y, -x \rangle_i$  for all  $x, y \in X$ .

**Definition 2.1.** An operator A on X is said to be *dissipative* if for every  $x_1, x_2 \in D(A)$  there is a  $x^* \in F(x_1 - x_2)$  such that

$$\langle y_1-y_2,x^*
angle \leq 0, ext{ for all } y_j\in Ax_j, ext{ } j=1, ext{ } 2.$$

An operator A is said to be *accretive* if -A is dissipative.

**Definition 2.2.** Let  $\omega$  be a real number. An operator A on X is said to be  $\omega$ -dissipative if  $A - \omega I$  is dissipative.

The condition (A.2) implies that, for each  $t \in [0,T]$ , A(t) is  $\omega$ -dissipative.

The following proposition is useful for later argument.

**Proposition 2.1.** (1) The condition (A.2) is equivalent to the statement

$$(2.1) \quad (1-\lambda\omega)||x_1-x_2|| \le ||x_1-x_2-\lambda(y_1-y_2)|| + \lambda|t-s|L(||x_2||)$$

for all  $\lambda > 0$ ,  $0 \le s \le t \le T$ ,  $[x_1, y_1] \in A(t)$  and  $[x_2, y_2] \in A(s)$ . (2) The inequality (2.1) implies

$$(\lambda + \mu - \lambda \mu \omega) \|x_1 - x_2\| \leq \lambda \|x_2 - \mu y_2 - x_1\| + \mu \|x_1 - \lambda y_1 - x_2\|$$

$$(2.2) \qquad \qquad \qquad + \lambda \mu |t - s| L(\|x_2\|)$$

for all 
$$\lambda > 0$$
,  $0 \le s \le t \le T$ ,  $[x_1, y_1] \in A(t)$  and  $[x_2, y_2] \in A(s)$ .  
(3) The inequality (2.2) implies

$$(1 - \lambda \omega) ||x_1 - u|| \le ||x_1 - \lambda y_1 - u|| + \lambda |A(s)u| + \lambda |t - s|L(||u||)$$

for all  $\lambda > 0$ ,  $0 \le s \le t \le T$ ,  $[x_1, y_1] \in A(t)$  and  $u \in D(A(s))$ , where  $|A(s)u| = \inf\{||v|| \mid v \in A(s)u\}.$ 

#### 3. Main result

In what follows, we assume that the conditions (A.1)-(A.5) hold. As in [7], we have the following lemmas.

**Lemma 3.1.** Let  $\{t_j^n\}$  be a partition of the interval [0,T], where  $t_j^n = jh_n = jT/n, \ j = 1, 2, \cdots, n$ . If  $n > (\omega + \beta)T$ , then there exists  $\{z_j^n\}_{j=0}^n$  such that for  $j = 1, 2, \cdots, n$ ,

(3.1) 
$$\frac{z_j^n - z_{j-1}^n}{h_n} = A(t_{j-1}^n) z_j^n + G(t_j^n, \bar{z}_{j,t_j^n}^n),$$

where

$$\bar{z}_{j}^{n}(t) = \begin{cases} \phi(t), \ t \in [-r, 0] \\ z_{k}^{n}, \ t \in (t_{k-1}^{n}, t_{k}^{n}] \ for \ k = 1, 2, \cdots, j-1 \\ z_{j}^{n}, \ t \in (t_{j-1}^{n}, T]. \end{cases}$$

and

$$\bar{z}_{j,t_{j-1}n}^{n}(\theta) = \bar{z}_{j}^{n}(t_{j-1}n + \theta), \theta \in [-r,0]$$

**Lemma 3.2.** There is a constant  $M_0 = M_0(\phi)$  such that

(3.2)  $\sup\{\max ||z_j^n|| \mid 1 \le j \le n, \ n > (\beta + \omega)T\} \le M_0.$ 

**Lemma 3.3.** There exists a constant  $M_1 = M_1(\phi)$  and an integer  $N = N(\phi)$  such that

(3.3) 
$$\sup\{\max \|z_j^n - z_{j-1}^n\|/h_n \mid 1 \le j \le n, \ n \ge N\} \le M_1.$$

We now define the functions

(3.4) 
$$z_n(t) = \begin{cases} \phi(t), \ t \in [-r, 0], \\ z_{j-1}^n + (t - t_{j-1}^n)(z_j^n - z_{j-1}^n)/h_n, t \in (t_{j-1}^n, t_j^n) \\ \text{for } j = 1, 2, \cdots, n. \end{cases}$$

Then the sequence  $\{z_n(t)\}_{t\in[-r,T]}$  is uniformly Lipschitz with Lipschitz constant  $M_2 = \max\{M_1, L_0\}$ . Let

$$(3.5) u_n(t) = \bar{z}_n^n(t), \ t \in [-r,T]$$

where  $\bar{z}_n^n(t)$  is obtained from Lemma3.1(the function  $u_n(t) = \bar{z}_n^n(t)$  is said to be  $h_n$ -approximate solution of  $(FDE; \phi)$ . Explicitly, we have

$$\bar{z}_{n}^{n}(t) = \begin{cases} \phi(t), \ t \in [-r,0], \\ z_{k}^{n}, \ t \in (t_{k-1}^{n}, t_{k}^{n}] \ \text{for}k = 1, 2, \cdots, n-1, \\ z_{n}^{n} = (1 - h_{n}A(t_{n-1}^{n}))^{-1}(z_{n-1}^{n} + h_{n}G(t_{n-1}^{n}, \bar{z}_{n, t_{n-1}^{n}}^{n})), \\ t \in (t_{n-1}^{n}, T]. \end{cases}$$

The operators A(t) and  $G_n(t)$  are defined by

$$\begin{aligned} A_n(0) &= A(0)\phi(0), \\ A_n(t) &= A(t_{j-1}^n)z_j^n, \text{for } t_{j-1}^n < t \le t_j^n, \\ G_n(t) &= G(t_{j-1}^n, \bar{z}_{j,t_{j-1}^n}^n), \text{for } t_{j-1}^n < t \le t_j^n. \end{aligned}$$

It is easy to check that the function  $z_n(t)$  is strongly differentiable on [0,T] except at a finite number of points at which the strong left derivative  $(d^-/dt)z_n(t)$  exists. Thus, from (3.1) and (3.4), we obtain

(3.6) 
$$(d^{-}/dt)z_{n}(t) = A_{n}(t) + G_{n}(t), \ t \in (t_{j-1}^{n}, t_{j}^{n}].$$

We will show that  $u_n(t) - z_n(t) \to 0$  as  $n \to \infty$  uniformly on [-r, T]. For  $t \in (0, T]$ ,  $t \in (t_{j-1}^n, t_j^n]$  for some  $j = 1, 2, \dots, n$ . Then, from the definition of  $z_n(t)$ , we have

(3.7)  

$$\|u_{n}(t) - z_{n}(t)\| = \|z_{j}^{n} - z_{j-1}^{n} - (t - t_{j-1}^{n})(z_{j}^{n} - z_{j-1}^{n})/h_{n}\|$$

$$= \|(h_{n} - t + t_{j-1}^{n})(z_{j}^{n} - z_{j-1}^{n})/h_{n}\|$$

$$\leq (t_{j}^{n} - t)M_{1}$$

$$\leq M_{1}h_{n}$$

$$\leq M_{2}h_{n}.$$

Since  $u_n(t) = z_n(t) = \phi(t)$  for  $t \in [-r, 0]$ , we have  $||u_n(t) - z_n(t)|| \le M_2 h_n$  for  $t \in [-r, T]$ . On the other hand, by the Lipschitz continuity of  $z_n(t)$ , we have, for  $t, s \in [-r, T]$ ,

$$\begin{aligned} \|u_n(t) - u_n(s)\| &\leq \|u_n(t) - z_n(t)\| + \|z_n(t) - z_n(s)\| \\ &+ \|z_n(s) - u_n(s)\| \\ &\leq M_2 h_n + M_2 |t - s| + M_2 h_n \\ &\leq 2M_2 (|t - s| + h_n) \\ &\leq M(|t - s| + h_n), \end{aligned}$$
(3.8)

where  $M = 2M_2$ .

**Theorem 4.1.** The sequence  $\{u_n(t)\}$  of functions converges uniformly, as  $n \to \infty$ , to an absolutely continuous function u(t) on [0, T].

*Proof.* We will show that  $z_n(t)$  converges uniformly, as  $n \to \infty$ , to a function u(t). Then it follows from above that  $u_n(t)$  also converges uniformly to u(t). Let  $\{t_j^n\}$  and  $\{t_k^m\}$  be two partitions of [0, T], where  $t_j^n = jh_n = jT/n, j = 1, 2, \dots, n, t_k^n = kh_m = kT/m, k = 1, 2, \dots, m$ . Let  $t \in (t_{k-1}^m, t_k^m] \cap (t_{j-1}^n, t_j^n]$ . By the Lipschitz continuity of  $z_n(t)$  and Lemma 3.1 of Kato [4], we have

$$(3.9) (d^{-}/dt)||z_{m}(t) - z_{n}(t)||^{2} = 2\langle (d^{-}/dt)z_{m}(t) - (d^{-}/dt)z_{n}(t), F(z_{m}(t) - z_{n}(t))\rangle = 2\langle G_{m}(t) - G_{n}(t) + A_{m}(t) - A_{n}(t), F(z_{m}(t) - z_{n}(t))\rangle \leq 2||G_{m}(t) - G_{n}(t)|||z_{m}(t) - z_{n}(t)|| + 2\langle A_{m}(t) - A_{n}(t), F(z_{m}(t) - z_{n}(t))\rangle.$$

We also have

$$\begin{split} \|G_m(t) - G_n(t)\| &= \|G(t_{k-1}^m, \bar{z}_{k,t_{k-1}^m}^m) - G(t_{j-1}^n, \bar{z}_{j,t_{j-1}^n}^n)\| \\ &\leq \|G(t_{k-1}^m, \bar{z}_{k,t_{k-1}^m}^m) - G(t_{j-1}^n, \bar{z}_{k,t_{k-1}^m}^m)\| \\ &+ \|G(t_{j-1}^n, \bar{z}_{k,t_{k-1}^n}^n) - G(t_{j-1}^n, \bar{z}_{k,t_{j-1}^n}^n)\| \\ &+ \|G(t_{j-1}^n, \bar{z}_{k,t_{j-1}^n}^n) - G(t_{j-1}^n, \bar{z}_{j,t_{j-1}^n}^n)\|, \end{split}$$

$$\|G(t_{k-1}^m, \bar{z}_{k, t_{k-1}^m}^m) - G(t_{j-1}^n, \bar{z}_{k, t_{k-1}^m}^m)\| \le \|t_{k-1}^m - t_{j-1}^n\|L_1(\|\bar{z}_{k, t_{k-1}^m}^m\|),$$

$$\begin{split} \|G(t_{j-1}^{n}, \bar{z}_{k,t_{j-1}^{n}}^{m}) - G(t_{j-1}^{n}, \bar{z}_{j,t_{j-1}^{n}}^{n})\| \\ &\leq \beta \|\bar{z}_{k,t_{j-1}^{n}}^{m} - \bar{z}_{j,t_{j-1}^{n}}^{n} \|_{PC} \\ &= \beta \sup\{\|\bar{z}_{k}^{m}(s) - \bar{z}_{j}^{n}(s)\| \\ &\quad |s \in [t_{j-1}^{n} - r, t_{j-1}^{n}]\} \\ &\leq \beta \sup\{\|\bar{z}_{k}^{m}(s) - \bar{z}_{j}^{n}(s)\| \mid s \in [-r, t]\}, \end{split}$$

 $\mathbf{and}$ 

$$\|G(t_{j-1}^n, \bar{z}_{k, t_{k-1}^m}^m) - G(t_{j-1}^n, \bar{z}_{k, t_{j-1}^n}^m)\| \le \beta \|\bar{z}_{k, t_{k-1}^m}^m - \bar{z}_{k, t_{j-1}^n}^m)\|_{PC}.$$

If  $t_{j-1}^n < t_{k-1}^m$ , then

$$\bar{z}_k^m(t_{k-1}^m + \theta) = \bar{z}_m^m(t_{k-1}^m + \theta)$$

 $\mathbf{and}$ 

$$\bar{z}_k^m(t_{j-1}^n + \theta) = \bar{z}_m^m(t_{j-1}^n + \theta)$$

for any  $\theta \in [-r, 0]$ . Also, since  $u_m(t) - z_m(t) \to 0$  uniformly on [-r, T], there exists a sequence of positive numbers  $\varepsilon_m$  such that  $\varepsilon_m \to 0$  as  $m \to \infty$  and

$$\begin{aligned} \|\bar{z}_{k}^{m}(t_{k-1}^{m}+\theta) - \bar{z}_{k}^{m}(t_{j-1}^{n}+\theta)\| &= \|\bar{z}_{m}^{m}(t_{k-1}^{m}+\theta) - \bar{z}_{m}^{m}(t_{j-1}^{n}+\theta)\| \\ &= \|u_{m}(t_{k-1}^{m}+\theta) - u_{m}(t_{j-1}^{n}+\theta)\| \\ &\leq \|z_{m}(t_{k-1}^{m}+\theta) - z_{m}(t_{j-1}^{n}+\theta)\| + \varepsilon_{m} \\ &\leq M_{2}[t_{k-1}^{m} - t_{j-1}^{n}] + \varepsilon_{m} \end{aligned}$$

by the Lipschitz continuity of  $z_m(t)$  on [-r, T]. Now, it is easy to prove that the sequence  $\{t_{k-1}^m - t_{j-1}^n\}$  converges to zero uniformly in j, k. From this fact, it follows that

$$\left\|\bar{z}_{k,t_{k-1}^m}^m - \bar{z}_{k,t_{j-1}^n}^m\right\| \leq \bar{\varepsilon}_{m,n}$$

where  $\bar{\varepsilon}_{m,n} \to 0$  as  $m, n \to \infty$ . Since similar inequality holds if  $t_{k-1}^m < t_{j-1}^n$ , we conclude that there exist sequences  $\varepsilon'_{m,n}$  and  $\varepsilon''_{m,n}$  such that  $\varepsilon'_{m,n} \to 0$  and  $\varepsilon''_{m,n} \to 0$  as  $m, n \to \infty$ , and

$$\begin{aligned} \|G_{m}(t) - G_{n}(t)\| \\ &\leq L_{1}(M_{0})[t_{k-1}^{m} - t_{j-1}^{n}] \\ &+ \beta \sup\{\|\bar{z}_{k}^{m}(s) - \bar{z}_{j}^{n}(s)\| \mid s \in [-r,t]\} + \beta \varepsilon_{m,n}' \\ &\leq (L_{1}(M_{0}) + \beta)\varepsilon_{m,n}'' + \beta \sup\{\|\bar{z}_{k}^{m}(s) - \bar{z}_{j}^{n}(s)\| \mid s \in [-r,t]\} \end{aligned}$$

Now, for any  $s \in [-r, T]$ , we have

$$\begin{aligned} \|\bar{z}_{k}^{m}(s) - \bar{z}_{j}^{n}(s)\| &= \|\bar{z}_{m}^{m}(s) - \bar{z}_{n}^{n}(s)\| \\ &= \|u_{m}(s) - u_{n}(s)\| \\ &\leq \|z_{m}(s) - z_{n}(s)\| + \|\varepsilon_{m,n}^{*}(s)\| \end{aligned}$$

where  $\varepsilon_{m,n}^*(s) \to 0$  uniformly on [-r, T] as  $m, n \to \infty$ . Thus

$$\begin{split} \sup \{ \| \bar{z}_k^m(s) - \bar{z}_j^n(s) \| \mid s \in [-r, T] \} \\ &\leq \sup \{ \| z_m(s) - z_n(s) \| \mid s \in [-r, ] \} + \varepsilon_{m,n}^*, \end{split}$$

where the constants  $\varepsilon_{m,n}^* \to 0$  as  $m, n \to \infty$ . Applying the above bound to (3.9), we arrive at

$$(3.10) (d^{-}/dt) ||z_{m}(t) - z_{n}(t)||^{2} \leq 2[\varepsilon_{m,n}^{**} + \beta \sup\{||z_{m}(s) - z_{n}(s)|| \mid s \in [-r,t]\}] ||z_{m}(t) - z_{n}(t)|| + 2\langle A_{m}(t) - A_{n}(t), F(z_{m}(t) - z_{n}(t))\rangle,$$

where  $\varepsilon_{m,n}^{**} \to 0$  as  $m, n \to \infty$ . Using the uniform continuity of F on bounded subsets of X, we obtain a sequence of functions  $\varepsilon'_{m,n}(t)$  with values in  $X^*$  such that  $\lim_{m,n\to\infty} \|\varepsilon'_{m,n}(t)\| = 0$  uniformly on [-r,T]and

$$F(z_m(t) - z_n(t)) = F(u_m(t) - u_n(t)) + \varepsilon'_{m,n}(t)$$

Thus

$$\begin{aligned} \langle A_m(t) - A_n(t), F(z_m(t) - z_n(t)) \rangle \\ &= \langle A_m(t) - A_n(t), F(u_m(t) - u_n(t)) \rangle + \langle A_m(t) - A_n(t), \varepsilon'_{m,n}(t) \rangle \\ &\leq \langle A_m(t) - A_n(t), F(u_m(t) - u_n(t)) \rangle + \left[ \|A(t_{k-1}^m) z_k^m\| \right] \\ &+ \|A(t_{j-1}^n) z_j^n\| \| \|\varepsilon'_{m,n}(t) \|. \end{aligned}$$

From equation (3.1), we obtain

$$||A(t_{j-1}^n)z_j^n|| \le M_1 + \beta M_0 + C_1 \le C_7.$$

Similarly,  $||A(t_{k-1}^m)z_k^m|| \leq C_7$ . Therefore,

$$\begin{aligned} (d^{-}/dt) \|z_{m}(t) - z_{n}(t)\|^{2} \\ &\leq 2[\varepsilon_{m,n}^{**} + \beta \sup\{\|z_{m}(s) - z_{n}(s)\| \mid s \in [-r,t]\}] \|z_{m}(t) - z_{n}(t)\| \\ &+ 2\langle A_{m}(t) - A_{n}(t), F(u_{m}(t) - u_{n}(t))\rangle + 2C_{7} \|\varepsilon_{m,n}'(t)\|. \end{aligned}$$

Since  $(u_m(t) - u_n(t)) - (z_m(t) - z_n(t)) \rightarrow 0$  uniformly on [-r, T], there exists a sequence  $\{\hat{\varepsilon}_{m,n}\}$  of positive numbers such that  $\hat{\varepsilon}_{m,n} \rightarrow 0$  as  $m, n \rightarrow \infty$  and

$$||u_m(t) - u_n(t)|| \le ||z_m(t) - z_n(t)|| + \hat{\varepsilon}_{m,n}.$$

On the other hand, by the condition (A.2), we get

$$\begin{aligned} \langle A_m(t) - A_n(t), F(u_m(t) - u_n(t)) \rangle \\ &= \langle A(t_{k-1}^m) z_k^m - A(t_{j-1}^n) z_j^n, F(z_k^m - z_j^n) \rangle \\ &\leq \omega ||z_k^m - z_j^n||^2 + |t_{k-1}^m - t_{j-1}^n|L(M_3)||z_k^m - z_j^n|| \\ &\leq [\omega ||z_k^m - z_j^n|| + (h_n + h_m)L(M_3)]||z_k^m - z_j^n|| \\ &= [\omega ||u_m(t) - u_n(t)|| + \varepsilon_{m,n}^0]||u_m(t) - u_n(t)||, \end{aligned}$$

where  $\varepsilon_{m,n}^0 = (h_n + h_m)L(M_0)$  and  $M'_0$  is a constant such that

$$\sup\{\max\{\|z_k^m\| \mid 1 \le k \le m\} \mid \ m > (\omega + eta)T\} \le M_0',$$

and  $M_3 = \max\{M_0, M'_0\}$ . Hence

$$\begin{aligned} \langle A_m(t) - A_n(t), F(u_m(t) - u_n(t)) \rangle \\ &\leq (\omega \| z_m(t) - z_n(t) \| + \omega \hat{\varepsilon}_{m,n} + \varepsilon_{m,n}^0) (\| z_m(t) - z_n(t) \| + \hat{\varepsilon}_{m,n}) \\ &= \omega \| z_m(t) - z_n(t) \|^2 + \varepsilon_{m,n}^{***} \end{aligned}$$

where

$$\varepsilon_{m,n}^{***} = \omega \|z_m(t) - z_n(t)\|\hat{\varepsilon}_{m,n} + (\omega\hat{\varepsilon}_{m,n} + \varepsilon_{m,n}^0)\|z_m(t) - z_n(t)\| + \hat{\varepsilon}_{m,n}(\omega\hat{\varepsilon}_{m,n} + \varepsilon_{m,n}^0)$$

131

and so  $\varepsilon_{m,n}^{***} \to 0$  as  $m, n \to \infty$ . Therefore, we obtain

$$(d^{-}/dt) \|z_{m}(t) - z_{n}(t)\|^{2}$$
((3.11))
$$\leq \varepsilon_{m,n} + 2(\beta + \omega) \sup\{\|z_{m}(s) - z_{n}(s)\|^{2} \mid s \in [-r, T]\},$$

where the sequence of positive constants  $\varepsilon_{m,n} \to 0$  as  $m, n \to \infty$ . Integrating (3.11), we obtain

$$||z_m(t) - z_n(t)||^2 \le \varepsilon_{m,n} T + 2(\beta + \omega) \int_0^t [\sup\{||z_m(\tau) - z_n(\tau)|| \mid \tau \in [-r,s]\}]^2 ds,$$

where we have used  $z_m(0) = z_n(0) = \phi(0)$ .

Since for any  $t_1$  in the interval [0,t],  $t_1 \in (t_{j-1}^n, t_j^n] \cap (t_{k-1}^m, t_k^m)$  for some j, k, we have

$$\begin{aligned} \|z_{m}(t_{1}) - z_{n}(t_{1})\|^{2} \\ &\leq \varepsilon_{m,n}T + 2(\beta + \omega) \int_{0}^{t_{1}} [\sup\{\|z_{m}(\tau) - z_{n}(\tau)\| \mid \tau \in [-r,s]\}]^{2} ds \\ &\leq \varepsilon_{m,n}T + 2(\beta + \omega) \int_{0}^{t} [\sup\{\|z_{m}(\tau) - z_{n}(\tau)\| \mid \tau \in [-r,s]\}]^{2} ds. \end{aligned}$$

We actually get

$$\sup\{\|z_{m}(t) - z_{n}(t)\|^{2} \mid \tau \in [-r, t]\} \le \varepsilon_{m,n}T + 2(\beta + \omega) \int_{0}^{t} [\sup\{\|z_{m}(\tau) - z_{n}(\tau)\| \mid \tau \in [-r, s]\}]^{2} ds.$$

An application of Gronwall's inequality to the above estimate shows that the sequence  $z_m(t) - z_n(t) \to 0$  as  $m, n \to \infty$  uniformly on [-r, T]. This implies that  $z_n(t) \to u(t)$  uniformly on [-r, T] and hence  $u_n(t) \to u(t)$  uniformly on [-r, T]. Finally, by (4.26), we obtain

$$||u(t) - u(s)|| \le M|t - s|$$
 for  $t, s \in [-r, T]$ .

132

This shows that u(t) is absolutely continuous on [-r, T]. This completes the proof.

We say that the function  $u(t) = \lim_{n \to \infty} u_n(t)$  is a limit solution of  $(FDE; \phi)$ .

## References

- [1] V. Barbu, Nonlinear semigroups and differential equations in Banach space, Noordhoff, The Netherlands, 1976.
- [2] M.G. Crandall and T. Liggett, Generation of semigroups of nonlinear transformations on general Banach space, Amer. J.Math. 93(1971), 265-298.
- [3] A.G. Kartsatos and M.E. Parrott, A method of lines for a nonlinear abstract functional evolution equation, Trans. Amer. Math. Soc. 286(1984), 73-89.
- [4] T. Kato, Nonlinear semigroups and evolution equations, J. Math. Soc. Japan 19(1967), 508-520.
- [5] Y. Kobayashi, Difference approximation of Cauchy problem for quasidissipative operators and generation of nonlinear semigroups, J. Math. Soc.Japan Vol. 27, No.4(1975), 640-665.
- [6] N.H. Pavel, Nonlinear evolution operators and semigroups, Lecture notes in Math., Springer-Verlag 1260(1987).
- [7] J.Y. Park, K.H. Son and D.S. Kim, On the existence of solutions for Nonlinear Functional Evolution Equations in Banach Spaces. Scientific Papers of the College of Arts and Sciences, The University of Tokyo, Vol. 42, No. 2(1992),131-148.
- [8] N. Tanaka, On the existence of solutions for functional evolution equations, Nonlinear Anal. Theory, Methods and Applications, Vol. 12, No.10(1988).

Department of Mathematics Dong-Seo University Pusan 616-010, Korea